CPD Quarterly Quiz - Worked solutions
Summer 2006
Question 1

Implementation of Basel II begins in January 2007.  One potential implication of this is the possibility of increased use of Money Market Funds (MMFs).
Which of the following accurately describes the difference in treatment of MMFs between Basel I and Basel II?

(a) Under Basel I an investment in MMFs attracted a 50% risk weighting; under Basel II it will be treated as a corporate loan.

(b) Under Basel I an investment in MMFs attracted a 100% risk weighting; under Basel II it will be treated as an interbank deposit.

(c) Under Basel I an investment in MMFs was treated as a residential mortgage; under Basel II it will be treated as an interbank deposit.

(d) Under Basel I an investment in MMFs was treated as an interbank deposit; under Basel II it will be treated as a corporate loan.

(e) don’t know

Answer

The right answer is (b) Under Basel I an investment in MMFs attracted a 100% risk weighting; under Basel II it will be treated as an interbank deposit.

Under Basel I MMFs were treated as corporate loans, i.e. the risk weighting was 100%.  Under Basel II the risk weighting will fall to the equivalent of an interbank deposit, currently 20% under Basel I, although the greater sophistication of Basle II implies that this 20% will vary depending on the rating of the bank involved.

The Treasurer July/August 2006 Money Market Funds: When the dust settles, pp 34 by Julia Berris
Question 2

The FSA has published proposals for the implementation of the Transparency Directive in the UK.  The Directive sets out requirements for the disclosure of acquisition or disposal of major shareholdings.
Which of the following is the best reflection of the FSA proposals?

(a) The FSA proposes that either the UK should keep its current disclosure rules or implement the Directive minimum which is less onerous.  There is no proposal to extend the rules to include economic interests in shares.

(b) The FSA proposes that either the UK should keep its current disclosure rules or implement the Directive minimum which is less onerous.  It also proposes to extend the rules to include economic interests in shares.

(c) The FSA proposes that either the UK should keep its current disclosure rules or implement the Directive minimum which is more onerous.  There is no proposal to extend the rules to include economic interests in shares.

(d) The FSA proposes that either the UK should keep its current disclosure rules or implement the Directive minimum which is more onerous.  It also proposes to extend the rules to include economic interests in shares.

(e) Don’t know

Answer

The right answer is (a) The FSA proposes that either the UK should keep its current disclosure rules or implement the Directive minimum which is less onerous.  There is no proposal to extend the rules to include economic interests in shares.

Currently the UK rules require disclosure when the threshold of 3% is reached plus every 1% above that.  The Directive minimum requirement is that disclosure is necessary when specific thresholds are passed; 5%, 10%, 15%, 20%, 25%, 30%, 50% and 75%.  This is less onerous than the UK regime.
There is no proposal to include economic interests in shares, for example contracts for difference.  The ACT has recommended that HM Treasury should reconsider this as knowledge of all holders of economic interest is relevant for acquisition defence as well as good investor relations.

The Treasurer, July/August 2006, Technical Update p 6

Question 3

The pre-emption rights of shareholders in UK companies have been enshrined in successive Companies Acts, although these rights can, with shareholder consent, be disapplied.  In 2005 the Myners Report suggested that the existing guidelines for the disapplication of pre-emption rights should be revised.  These revised principles have now been agreed by the newly-formed pre-emption group, on which the ACT is represented.
Which one of the following describes the new principles which shareholders are encouraged to approve?

(a) A maximum disapplication of 5% of shares in any one year and 7.5% on a rolling three year period.  This will exclude any sales of treasury shares.
(b) Maximum levels for any specific period will be de-emphasised with shareholders encouraged to exceed guideline levels if the proposal is explained and justified appropriately.  This will include any sales of treasury shares.
(c) A maximum disapplication of 5% of shares in any one year and 7.5% on a rolling three year period.  This will include any sales of treasury shares within the 7.5% three year limit but not the 5% annual maximum.

(d) Maximum levels for any specific period will be de-emphasised with shareholders encouraged to exceed guideline levels if the proposal is explained and justified appropriately.  This will include any sales of treasury shares; these should count towards the 5% annual limit but not the 7.5% three year maximum.

(e) Don’t know

Answer

The right answer is (d) Maximum levels for any specific period will be de-emphasised with shareholders encouraged to exceed guideline levels if the proposal is explained and justified appropriately.  This will include any sales of treasury shares; these should count towards the 5% annual limit but not the 7.5% three year maximum.

The new principles also state that companies have a responsibility to signal their intention to seek disapplication at the earliest opportunity and enter a dialogue with shareholders.  Further, they state that shareholders also have a responsibility to enter this dialogue.  They should review the case made by the company and apply normal investment criteria.

The Treasurer, June 2006, Technical Update, p7.

Question 4
IFRS 7 is applicable to all entities reporting under IFRS for periods starting after 1 January 2007.  It replaces the disclosure elements of IAS 30 and 32.
Which of the following reflects the differences between the previous standards and IFRS 7?

(a) There are additional disclosure requirements for hedge accounting with regard to ineffectiveness of cash flow and fair value hedges.

(b) A sensitivity analysis is required to disclose the profit/loss or equity impact from changes in risk variables that were reasonably possible at balance sheet date.

(c) Disclosure is required regarding the credit quality of financial assets and the credit exposure at the reporting date

(d) All of the above

(e) Don’t know

Answer

The right answer is (d) All of the above.

IFRS 7 is a more demanding standard in both quantitative and qualitative terms.  It has been suggested that the standard is almost designed to bring treasurers and their financial control colleagues closer together.

The Treasurer, June 2006, Piercing the Corporate Veil by Stephen Brickett and Ramon Tolk pp34-36.
Question 5

Over recent months there has been a marked increase in the extent to which companies are willing and able to raise funds against the security of cashflows associated with their intellectual property.  The largest such deal has now raised $1.7 billion.  The key difference from other securitisations of future revenue, such as receivables, is that the borrower still has to make the asset perform.
The largest deal in securitising intellectual property, raising $1.7 billion, is which of the following?

(a) DreamWorks securitising the revenues from future movies.
(b) Pfizer securitising the revenues from their drug development process.
(c) Harvard University securitising future income from alumni.
(d) Dunkin’ Donuts securitising royalties from their franchisees.
(e) Don’t know

Answer

The right answer is (d) Dunkin’ Donuts securitising royalties from their franchisees.
The Economist, June 15th, Finance and Economics, Securitising intellectual property.
Question 6

The importance of pensions risk management has gained a much higher profile since the adoption of FRS17 and subsequent standards.  Several factors have contributed towards this increase in attention, not least the realisation that many funds harbour significant deficits.  As a result, an approach that has gained favour is Liability Driven Investment (LDI).
Which of the following is an accurate description of the principles upon which LDI is based?

(a) Performance targets for investment managers are expressed relative to a benchmark portfolio which moves in step with scheme liabilities.

(b) Investment managers should be required to generate returns in excess of a benchmark portfolio which moves in step with scheme liabilities.

(c) Investment managers should be set performance targets expressed relative to either the FTSE 100 or the FTSE 350 indices in order to reduce future employer contributions.
(d) Investment managers should not be set performance targets, liabilities should be managed instead.

(e) Don’t know

Answer

The right answer is (a)   Performance targets for investment managers are expressed relative to a benchmark portfolio which moves in step with scheme liabilities.

One of the bigger issues for pension investment is the conflict between the perspective of the employer, wishing to minimise long-term contributions, and the member of the scheme, wishing to minimise risk of asset diminution.  LDI focuses on the latter in setting a realistic target for investment managers who are required to match asset values with liability values.
The Treasurer, 21st Century Pensions, Summer Supplement 2006, The Rise and Rise of LDI by Andrew Giles and Mark Ashley pp15-17

